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! LAKHOVSKY MULTIPLE WAVES INSTITUTE

(A NON PROFIT CORPORATION)

For Research in Medicine and Biochemistry Through the Application of Multiple Ultra-Short Radiation.

27 PEARL STREET NE\NYORK4, N. Y.

BQune G reen 9-2337

OFFICERS

Re SPHGE J. J. LAKHOVSKY Ij.S.S. Form

1,2k - New York

ago,

DISRAELI KORK, beingfirst ouly sworn, on oath deposes and says't hat he is
Cc practicing physician residing in the City of Chic
in the State of lllinois; that his personal
L office is located at 30 North
1?7882 2 . Sjute  of lllinois ss. Michigan Avenue, Chicago,
i lllinois; that he is a director
of physical therapy of the
Presbyterian Hospital of Chic go, the hospital
beingoneoftheprincipalmedic.linstitutions
1% 9 43' tot @ in Chicago and the Middle West; that in addition, h eisonthe
4 = faculty # the Rush liedical College, one of the outstmding
medical schools of the country; that he Is editor e meritus of

Uujveraily

the Archives of Physical Ther-
scientificjournalinthefield of physical therapy
scope.

ccoudVice-Pre«iJeocHBNKY S.

BLUM Attorney *t La*

' Mhattuisaffianthasforaconsiderable uerlod of
isnow carryingonthe experimentaltreatmentofth
Presbyterian Hospital and is using in that connecti
appliance invented by Georges Lakhovsky, now deceas
appliance utilizesanew phr-se ofradiationalsod
Georges Lakhovsky; that the discoveries referred to
uncompleted and further work is required to bring t
experimentscarriedonbythisaffiantandSI'RGE
thesonoftheinventor,registrant,tothe pointw
begenerallyacceptedandusedinthetreatmentof
the experimental work no« being done is of great pr
medical science; that the value of these experim-.-
indicated in the worK being done by this affiant at
Presbyterianhospitalwheremanydiseasesheretofor
incurable or In which orthodox medication has been
Ineffective, are now being treated by the Lakhovsky
these diseasesinclude malignancies, various form
and neuritis, endocrine disturbances, high blood pr
the like; that it is tne opinion of this affiant th
treatmentol"woundedsoldierswillinmanyInstanc
facilitiated by the use of tnese rays; that these r
generated by said appliance designed and perfected
Georges Lakhovsky, and the appliance requires servi
adjustment and development of registrant in the cou
experimental work and research now being carried on

This affiant further states that the suspension of
research work and experimental wor«c being carried

< J2wr

7. L1. BERNARD

lughé&
< LAKHOVSKY
2771

U Bio-Chemical Engineer

EU ) 3uQuth ( #>,;beinga
,internationalin

timeand
esickatthe
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are asyet
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& & L/IUCHOVSKY,
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thesick;that
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entirely
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esbegreatly
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OFFICERS
1gt ¢

1)'SKAHL! KOBAK, M. D. iii-PrriiJott, American Congr

of Phjriic»! Therapy. Editor limeritui
Archive»  ( Phyiical Thar«p?

Plr« Vice-Presiden<
DR. ALBERT VERLHY

Ei-Pro(c»or  (# Chemin<ry Pan» Univeriicy

Second Vice-Prc«iden( HENKY
S. BLUM AtJorncy «c Law

& 33
1g& 431 $1s
?

creiary
SHRCR LAKHOVSKY Hlecirkal

Bio-Chemical Engineer

LAKHOVSKY MULTIPLE WAVES INSTITUTE

(A NON PROFIT CORPORATION)
For Research in Medicine and Biochemistry Through the
Application of Multiple Ultra-Short Radiation.

27 PEARL STREET
NEW YORK-4, N. Y.

BQunc G rieen 9-2337

" on by the registrant, SERGF. J. J. L;\KHOVSKY, if |
terruptedatthistime, willinthe opinion ofthis
greatly hamper the conclusion of the **ork undertak
this affiant; that a grert deal of experimental wor
been carried on in European countries, particularly
France «nd Italy, the results of which are knovm on
the registrnnt; tint the assistance of the registra
this affiant is indispensable to the research carri
at the Presbyterian Hospital; and that it is the op

(£ ofthisaffiantthatintheinterestsofmedicine,
the treatment of wounded soldiers upon their return
workofthisaffirntbenotinterruptedatthistim
withdrawal of the registrant.

Further affiant sayeth not.

05 0

n_
affiant
en by
k, has
in
ly to
nt to
ed on
inion
including
, the
ebythe

Pubscribed and  swornto
before me ttis_ 7k
day of January,

A

2522 .otary Public.

N
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